
RGR NA/NB Miata Side Skirt Part & Hardware Packing List
-----------------------------------------------------------------------------------------------------
Parts:
Base Kit
(1) Left Side Skirt (aluminum)
(1) Right Side Skirt (aluminum)

(1) Left Aero Fin (carbon fiber)
(1) Right Aero Fin (carbon fiber)

(1) Left Rear Spat
(1) Right Rear Spat

(2) Angled Bushings (delrin)
(2) Angled Washers (6061-T6)

Full Kit Addition if Ordered
(2) Left Side Underskirt Airfoils
(2) Right Side Underskirt Airfoils
-----------------------------------------------------------------------------------------------------
Hardware:
Base Kit
(6) ⅛” Black Rivets

(4) SS M6-1.0 x 12mm Flange Button Head Bolts
(4) SS M6-1.0 Flange Nuts
(20) SS M6 Small Washers
(4) SS M6-1.0 x 30mm Hex Bolts

(4) SS M5-0.8 x 25mm Hex Bolts
(8) SS M5 Small Washers
(4) SS Black Oxide M5-0.8 Hex Nuts

(1) Double Sided Tape Roll

(1) Adhesive Promoter

Full Kit Addition if Ordered
(8) ⅛” Black Rivets

1


